27* January 202

We are Learnin.c‘% to use standard units to measure the LG.c‘%th or

hziqht Jor,vf dl,vf/vfzmnt ﬂbéz,ctzs.

How Lornq is each nbjz.ct?
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The pencil Is cm long.
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The crayon Is cm long.
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The brick Is cm long.




Lets LOMP.OrL the Lenxal,th n,vf two ribbons.

a) How long Is the blue ribbon?
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The blue ribbon Is cm long.

b) How long Is the red ribbon?
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The red ribbon Is cm long.

c) Which plece of ribbon Is longer?

The ribbon Is longer.




Challenge
Mo, Whitney and Eva are building towers.
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a) How tall Is Mo's tower?

Mo's tower Is cm tall.

b) How tall Is Whitney's tower?

Whitney's tower Is cm tall.

I"*EH tower is mll;r

<) h’-—— than Whitney's, but shﬁ
E@ S__ﬂ____ than Mao's. //

=

How long could Eva’s tower be? cm

Is there more than one answer?



